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EXAMPLE #2...

The gas tank of Rory’s car can hold 60 litres of gas.

a) Rory is travelling in Coloradd,
much will it cost him to fill upta

and needs to fill up his tank. The cost of gas is $3.49/gallon. How
waling the tank is completely empty?

b) IfRory took the same car to England, where gas costs $8.01/gal, how much would it cost him to fill up

ek Lol :& Zﬁ

EXAMPLE #3...

Gwen is following a recipe for pancakes that calls for 10 cups of flour, 1% cups of sugar, and 2.5 tsp of

baking soda. What will the total volume of the dry goods be in mL if she makeg/a double batch?
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HOMEWORK...
NOTE: Use US Imperial for pt, qt & gal

1) page 182#1-5 X

2) Review Worksheet - Converting Imp Metric.docx
7
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IMPORTANT CONVERSIONS...

Sl Length G—) | mperial Length
1cm=10mm 1m=1.0936 yd 1ft.=12in.

1m.=100 cm 1 mi. = 1.6093 km 1yd=3ft

1 km = 1000 m 1in.=2.54 cm 1 mi. = 1760 yd
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'Sl Capacity: 1L =1000 mL
1kL=1000 L

Sl Volume: 1cm®=1mL
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IMPORTANT SURFACE AREA FORMULAS...
SA,., = Add areaof allthe faces
SA i =271 +277h

ol

SA,,. =7r’ +xrs
[ W—

IMPORTANT VOLUME FORMULAS...

V prism =1wh

= A4, +(areaof thetriangular faces)

_ 2
Vestnaer =71h
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CONVERTING COMMON COOKING UNITS

Imperial s/

i teaspoon 125mL

¥ teaspoon 25mL

T teaspoon Sml

1 tablespoon (3 teaspoons) | 15 mL

Toup 250mL
1pint 568.2614 mL
Tquart (2pt) 113651

1 gallon (4 ) 454611
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CONVERTING US IMPERIALTO SI UNITS

US Imperial Sl

1floz 295735 mL.
Tpt=16floz 473176 mL or 0.473 L
Tqt=2pt 946.352 mL or 0.946 L
1gal =4qt 3785.4mLor3785L
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Name : Score :
Teacher : Date :
R Liquid Measure Quiz
1)12  tsp = tbsp
2)8 cups = ___ floz
3)4 pints = __ galon
4) _ quat = 1/4  galion
5)4  cups = quart
6)__  thsp = 12 cup
7)1 gallon=__  floz
8)__ cups = 1 __ gallon
9)3 tsp = ___ tbsp
10) ___ cups = 8 pints
1) __ cups = 1 pint
12) 2 pints = ____ quarts
13) __ pint =8 floz
14) 2  cups = floz
15) __ _cups = 2 pints
16) 12 quart = fl oz
17) _ _tsp = 12 floz
18) __ _cup =8 floz
19) _ cup =2  floz
20) 8 pints = _____ gallon
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Name : Score :

Teacher : Date :

éonverting Englisﬁ and Metric

1) teaspoons = 6 milliliters

2 1 gallons = liters

3) cubic feet = _14 cubic meters
4) quarts = M liters

5) cubicyards = _21 cubic meters
6)5 quarts = liters

7) 155 cups = liters

8 ) cubicinches = _8 milliliters
9) cubicyards = _15 cubic meters
10) 125 cubic feet = cubic meters
11) cubic feet = _205 cubic meters
12) cups = _15 liters

13) cubicinches = _11.5 milliliters
14) 3 teaspoons = milliliters
15) quarts = 4 liters

16) 7.5 cups = liters

17) 195 cubic inches = milliliters
18) 3.5 cubicyards = cubic meters
19) 17 tablespoons = milliliters
20) 25 gallons = liters

Geometry, Measurement & Finance 10 %7 Math-Aids.Com






SMART Notebook


[image: \\nbss0811.nbss.nbed.nb.ca\homedirs$\staff\hallihana\My Pictures\Picture\Picture 001.jpg]

image1.jpeg

Name : Score :
Teacher : Date :
Converting Engiish and Metric
1) inches = 2 centimeters
2) 10 mph = kmph
3) miles = _145 kilometers
4 138 gallons = liters
5) quarts =_3 liters
6) 9 cups = liters
7) 95 teaspoons = milliliters
8) 19.5 square inches = square centimeters
9) 8 cups = liters
10) cubicinches = _3.5 milliliters
1) cubicinches = 7.5 milliliters
12) 105 gallons = liters
13) feet =5 meters
14) cubic feet = 2 cubic meters
15) teaspoons = 6 milliliters
16 ) cubicyards = _12 cubic meters
17) square inches = _1 square centimeters
18) 19 yards = meters
19) 20 fluid ounces = milliliters
20) 15 cubic feet = cubic meters

Geometry, Measurement & Finance 10 - MIXED Conversions
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SAMPLE CHAPTER TEST

Name: Date: o

Part A: Muitiple Choice

Choose the best response to each of the lollowing questions

1. A roll of vinyl llooring costs $30.00 4 square metre. How much would you need to spend to cover a
floor thatis 5 m by 8 m?
a) $40.00 b) $1200.00 ¢) $780.00 d) $390.00

2. A landscaper is laying weed barrier cloth on a section of & garden that is 15 ft by 21 ft. The weed
barrier cloth is sold by the square vard. low many square yards of weed barrier cloth will she need?
a) 35 yd? b) 315 yd2 Q) 675 vd2 d) 2835 ya?

3. Your dining room measures 7.5 m by @ m. You have found the periect carpet for the room, but it is
sold in square yards. One vard equals 0.6144 metres. How many square yards of carpet do you need?
2) 67.5 yd? h) 6172 yd: ¢) B0.688 v d) 90.25 yd?

4. You have purchased a 5-gallon fish tank from an Amenican online store. One US gallon equals 3.7854
litres. How many litres of water will you need to N the rank?
a) 189270 L b) 1.0988 I ¢) 0.4339L. d) 9.5461 L

5. A potato chip manulacturer packages chips ina cylindrical cardboard container with a diameter of 3;";”
and a height of 9%". How much cardboard is needed 10 rmuke one container, withow the wp and
bottom?
a) 28.58 in? b) 109.53 in2 ¢} 1837 in2 ) 89.58 in?
Part B: Short Answer oo oo

6. The diagram below represents a scale drawing of Diana’s business property. She needs 10 purchase

rock salt to melt the ice on the parking lot (shaded aran) around her building. One bag of rock salt
will cover 1300 square feet. How many bags of rock salt dees Diana need 1o purchase 1o salt the emire
parking lot?

Building

) - 075in
1in ; !

0.75in

1.5 in
Scale: 0.25 in = 18 ft
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7. Ethan is writing an estimate [or a clicm who would like a patio buil from imerlocking bricks. The
landscaper has provided two designs that would fit in the yard: Plan 1 is for a patie 3 yards Jong and
4 yards wide. Plan 2 is [or a patio 5 yards long and 2.5 yards wide. The elient wants to know how
much each plan will cost. Ethan will use rectangular bricks that measure 8” x 4” and cost $3.00 a
square [oot. lithans labour charge is $8.50 per square foot. Which plan sheuld the client choose?

8. A cabinet maker is repairing the laminate edging of a set of circular wood tables. The coftee tahle has a
diameter of 28” and the two end tables each have a diamerer of 167 1f one &-foot roll of laminate costs
$8.89, how much will it cost to replace the edging on all three tables?

9. A party planner is designing a conical canvas tent for a childs binthday party. The tent has no floor,
and it has a radius of 3 1, a perpendicular height of 4 1, and a slant herghe of 5 ft. If canvas sells for
$23.004yd2, hew much will the material cosi?






256
10. Two cylindrical flower pots need 1 be pained. The fower pots are 12 Uin diameter and 2% ft high.
A1 1L can of paint covers 100 f2. Will one can be enough to paint the two flower pots with two coats

of paint?

11, Mauhew was hired 1o produce 23 pairs of plastic beokends using the dimensiens shown in the
diagram below. The bockends will be consirucied using an imection mould. Determine the cost of 25

pairs of bockends if the cost of plasuc is §13.235 a cubic foor.

Part €C: Extended Answer

12. Elise is a homeowner who wishes to vedesign her hackyard She wanis 1o have & circular patio and a
rectangular walkway made [rom pavement. The surrounding area will be lawn. The backyard is 10 be
laad out as shown belew.

The total length of the backyard is 23 yards and the width is 9 yards.





257

a) The diameter of the circular patio is 7 vards, Caleuhoe the area of the patio.
) t

b) “The rectangular walkway s 17 vards long and 2 vards wide Calculate the area of the walkway

¢) The cost of the paved area is $23.00 & square yard. Iind 1he wotal cost of the pavement.

d) The cost of the lawn arga is $5.00 a s;uare vard. Find the wotal cost of the lawn.

¢} How much will it cost Elise to rvedesign her backyard?
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SAMPLE CHAPTER TEST: SOLUTIONS

‘l Shaded srea= (72 fix 108 1) - (34 ftx 34 fu)

Shaded area = 7776 [12= 2916 fi* = 4860 12
4860 12
1300 it?

4

[O%]
to

Part A: Multiple Choice 7 Bags ol sall:

1. B 120000 She nezds o buy 4 bags ol salr.

Area: Smx8m=40m?

40 m? x $30.00/m? = $1200.00 Ypdx g =i

Area: G fix 12 it = 108 N2

Il

3N g Cost labour: 108 {12 x §8.50/4t2 = $918.00
Area; 3 yd x 7 yd = 35 yd? Cost hricks: $5.00/4¢ x 108 fi2 = $540.00
3. c) BO.OBB yd? ol cost $340.00 + $218.00 = $1458.00

o 1vd O
f.omx 00144 m 8.20 vd Plan 2:

1 vd

Omx —L¥E  — 982w FEd s B R
X o149 m : e e
Area: 820 vd x 9.84 yd = 80 683 w2 - 30 -
) “)’dxl'vd:lvh
4. a) 1892701 7

37854 1. x| Avea 154x75i=11251

1 gal 5 gal

Cost labour: 112.5 07 x $8.50/M2 = $936.25

(5 gal) % = 189270 1. Cost bricks. $3.00/t2x 112.5 (2 = $562.5
5 d) 89.58inz : lotal cost: $340.00 4 $918.00 = §1318.75
/ SA = 25eh The client should cheose Plan 1,
SA=2m(3.12% = 2){9.123) Convert the diameter of the colles
SA = 8938 m? inches w feet.

o

ble from
1 I
12 in
Find the circumlerence of the coffee table.

28inx =233 %

Part B: Short Answer

6. Convert the dimensions Lo feet using the scale
0.25 in equals 18 fu.

2
= Jd

S o

=733 It

-

Entire property {large rectanglel 1s

T2 Lx 108 ft. Conven the diameter of the end table [rom

oy < g s inches o feet

Building (small square) is 54 ft x 34 [L. e '
t

121

. i 16 in % =133
Shaded area = large rectangle area — small

reciangle area





I'ind the circumierence of the end 1able

C=nd
C=n(i.33)
C=41901

Add the circumferences to find the towl length
of laminate nesded.

733+419+415=1571

One voll of laminate 15 8 ft long, so the cabinet
maker will buy two rolls,

2xSBRG=517.78
The laminae will cost $17.78.
Q. SA=nrs

SA = n('5 fl x l—;"ﬁ—l\ll\bf\. x

1yd)
BN

SA =524 )’d2
The planner would need 1o buy whole yards,

6 ydd x $23.00 per vd? = $138.00

U

Surflace ares of a eylinder (base and side. the
top is open):

SA = mdh + w2

SA =5{1.5)2.5) + {0,752
SA=11.802+ 1812
SA=1360n1

Amount ol paim needed for 2 coats on ane ot
2x 136 ft2=27.2 i

) _— [7

2pots =344 h2

Yes, ane can ol paint is cnough for the twe
pots.

11, Volume ol booken:d:

v = lwh
{

A [
V, =2 inx L )isin x
LY 12 invh

v, = 0.037 {3

(IR
— |{ 4 1ty X -
l.?-ll'l:"\

e \{
V,= \2 mn x ==
V, = 0.019 fi2

LI \
14 in!

Ly,
3100 e
]l‘}..l <

12 in,

! r 1 { G
Vi {\2 in x 112 filn)l\-'} inx

V,=0028 b

dj

el

Chapterd  Systems of Measurement and Conversions

o
(= VoV

Aliswer

Aveaof paue = nr?
Area of patic = n(33502
Area of patio = 38.48 yd*

Area ol wallway = lw
Area of walkway = 17 yd x 2 yd
Area of walkway = 34 yvd?

38 4n vdt o 34y = Y248 vd?
¢ st ol the paved area:
$25.00/d? x 72.48 yd?=$1812.00

Find the area of the hackyard

Subtract the area of the pavement.
225 vdt - 72 48 yd2 = 155.52 yd?

Cost ol the Lawr area:

$8.00vd? x 153,32 vdt = $1220.16

Tetal cost:

FI812.00 « 51220 16 = $3032.16.
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